Garten 40,79 m2

-0,37.

H 0
~|e10 TERRASSE -0,30
1 AR Estrichpl. <¢>
1 U-Beton 5 F: 16,63 m*
F: 535 m2 ag U: 17,09 m
RIGOL NN
3 ¥y Modm & [N R R
[
IZ 1L
I _ Z
RPH -4,5 RPH 115,5
FPH 0 FPH 120
WOHN/ESS/KUCHE
Melanboden
F: 30,20 m?
U: 24,66° m
(O] -
B
0,27 —H
<+ 0
1200}
< 2l ¥ Fl 2ol AR
|| - -92-20/26(Siehe-Statik) —- | Fligsen
= F: 1,60 m?
U: 5,14 m
3 AR
210 U-Beton
F:4,22 m? Z
U:9,12m
= VORR. s
L IR T IT Fliesen 200
F:7,81 m? WG
U: 12,14 m (= Fliesen
-0,30 F: 3,50 m?
<+ U:7,56m
o2
20.30[ i E
WEGE/PARKPLATZE TOP 7 ! 82 ] =
Pflaster(Sandbett) EG 51,87m? WM |1
F: 45,97 m? 0G 61,72m?
U:4374m Ges.113,59m?
TECHNIK
Fliesen
F: 8,76 m?
U: 12,00 m

> > >

Wasserzahler

RPH 135,5
140

140
80

RAR]
210!




44,20m2
RHE RHT.

J l

i
\ L]
|
=
T~
ole o ole
3= Sl= Sk
o
T
RPH 85,5 A
FPH 90 [
|
|
|
|
| ZIMMER
| Melanboden
ZIMMER : ® F: 13,95 m?
Melanbaden | U: 15220 m
F:12,75 m? |
U: 14,50 m SCHRR. |
Melanboden |
= F:8,16 m? |
80 U: 12,34 m | 3 §
® 200 | L 4
I
e
200
I
]
7 N 7
Sachausstiet
Dchaussteg
‘ 7 65|
‘ e 1g47p6
|
| VORR. L
| Melanboden
| F:7,28 m?
| U:1272m
| L] BAD
| Fliesen
‘ igo F:6,61 m?
| U: 10,48 m
|
|
|
| L L
} TOP 7 oo —— E
| EG 51,87Tm? *IQ l— L
| 0G 61,72m* E
| Ges.113,59m? ZIMMER
| Melanboden
‘ F: 12,97 m?
‘ C D U: 14,90 m
|
|
|
|
|
|
| RPH 85,5
‘ FPH 90
! L
} [ l‘_n;r Eq‘
il b
(€] I I I I I A%
ole
! 3=
i




	13.13 TOP 7 EG
	13.14 TOP 7 OG

